I F—— h Industrial hydraulic valve

COMPANY

DWHG SERIES SOLENOID
PILOT OPERATED
DIRECTIONAL VALVES

T
S

DWHG series are solenoid pilot operated spool type valves . This series
are used to control the start ,stop and direction of flow.

(C Technical data

Size 10 16 22 25 32
Max operating pressure P.A.B(MPa) 31.5 35 31.5 85 85
Externally drained 31.5 25 25 25 25

T Port (MPa) (AC)-10 (AC)-10 (AC)-10 (AC)-10 (AC)-10

Internally drained
Y (DC)-16 (DC)-16 (DC)-16 (DC)-16 (DC)-16

(AC)-10  (AC)-10 (AC)-10  (AC)-10  (AC)-10

YO (MPa) Y Port (MPa) Externally drained
(DC)-16 (DC)-16 (DC)-16 (DC)-16 (DC)-16
Min. Pilot pressure(MPa) 0.45-1 0.45-1.3 0.45-1 0.45-1 0.45-1
Max. flow rate(L/min) 160 300 450 650 1100
Weight(KGS) 6.7 9.5 12 18 38.5
Valve body ( Material ) Surface treatment casting phosphating surface
Oil cleanliness NAS1638 class 9 and 1SO4406 class 20/18/15

www.tshcompany.com.br TSH - Technology in Hydraulic Systems 19




Industrial hydraulic valve ISh

(S Characteristic curves: Type 4DWHG10... ( measured with HLP46, Voil=40C +5TC )

Ap-q, Characteristic curves

11 /
10 / 4
9
& y/4V4 i
S . /
s _ / 4 2
2 g , / /]
o € 4 / /
«Q T S / &
5 ~£ /s
(0] SO 5 7, / // 7
N 3% 4 /| v s
o D // /
- g VW “ %%
© s Y //
2 A
/ d
:
0
0 20 40 60 80 100 120 140 160
Flow in ( L/min ) —>
Spool symbol Spool position Central position
P-A P-B A-T BT | Spoolsymbol AT B-T P-T
EY,D 2 2 4 5
F 1 4 1 4 F 3 _ 5
G,T 4 2 2 6 G,T - - 7
H,C 4 4 1 4 H 1 3 5
JK 1 2 1 3
L 2 3 1 4 L 3 - _
M 4 4 3 4
P 4 1 3 4 3 _ 7 5
QV,w,z 2 2 3 5
R 2 2 3 -
u 3 3 3 4 u - 4 -

(S Characteristic curves: Type 4DWHG16... ( measured with HLP46, Voil=40C +5C )

Ap-q, Characteristic curves

© 4 4
= // P
S 7 a1
) s /
~E P ~ 2
. O > >
S¢ // /
-’ ?) - e
%] /
o
(o8
00 250 300
Flow in ( L/min ) —>
Spool symbol Spool position | o Spool position
P-A P-B A-T B-T P-T Spool symbol | p_p P-B A-T B-T P-T
EDY 1 1 1 3 - MW 2 2 4 3 -
F 2 2 3 3 - R 2 2 4 - -
GT 5 1 3 7 6 U 1 1 4 7 -
H,C,Q,V,Z 2 2 3 3 - S 4 4 4 - 8
J.K, L 1 1 3 3 -

TSH - Technology in Hydraulic Systems www.tshcompany.com.br




I:‘f h Industrial hydraulic valve

COMPANY

(C Characteristic curves: Type 4DWHG22... ( measured with HLP46, Voil=40C +5C )

Ap-qv  Characteristic curves

5 6 Spool position
14 Spool symbol
/ / / 4 P-A| P-B| A-T| B-T | P-T | B-A
12 E 2 2 1 4 - -
// // 3 F 1 2 [ 1 2 [ 4 | -
T 10 A 72 G 2 2 2 | 4 |6 | -
< H 2 2 1 3 2 -
o A/
Tso 8 7 7 J 2 [ 2 [ 1 3 | - [ -
. O / / L 2 2 1 2 - -
So 6 A - -
o & / 7 / M 2 2 1 4
~ 3 / P 2 2 1 4 | 6 | -
2 4 < // 7/ // Q 2 | 2 [ 1| 4 |- |-
—
o // é / R 1 2 | 1 - | - 15
2 o T 2 | 2 [ 2 [ a |5 | -
e VR P P B A A
0 v 2 2 1 4 - | -
0 50 100 150 200 250 300 350 400 450 W 5 > p 3 — —
Flow in (L/min) —
4 Spool symbol L
Central position A—T
6 Spool symbol U
Central position B — T
(C Characteristic curves: Type 4DWHG25... ( measured with HLP46, Voil=40C +5TC )
1 Ap-q., Characteristic curves 8 7 6 5
4 /' 44
. // / /] .
10 va V. //VA// 2
s
+ X V // . /// > 1
o©
g:’: 6 //érA///l/ 7 Spool symbol G
3 ?; A// / Central position P - T
a4 7 -~ Spool symbol T
o / / — 8 Spoolsy
o 5 4//,/// Central position P - T
= —
0
0 100 200 300 400 500 600 650
Flow in ( L/min ) —>
Spool position Spool position Spool position
[Spool symbol Spool symbol| Spool symbol|
P-A | P-B | A-T | B-T P-A | P-B | A-T | B-T P-A | P-B | A-T | B-T
E 1 1 1 3 L 2 2 3 3 u 4 1 1 6
F 1 4 3 3 M 4 4 1 4 \Y 2 4 3 6
G 3 1 2 4 P 4 1 1 5 w 1 1 1 3
H 4 4 3 4 R 2 1 1 - T 3 1 2 4
JQ 2 2 3 5

www.tshcompany.com.br TSH - Technology in Hydraulic Systems




Industrial hydraulic valve I = h

COMPANY

(O Characteristic curves: Type 4DWHG32... ( measured with HLP46, Voil=40C +5TC )

Ap-q, Ap-q,
Characteristic curves—Spool E,R,W Characteristic curves—Spool G,T
18
16 / 16 /
14 -4 / 14 ° ] / /
y
5 A/ I /
S 12 ] VA4 g " Pr
o Tg 10 y. . Tg 10 - » /|
o} /‘\% 8 / /‘\% 8 // l/
~— — _
2 Sg 6 A '/ Sg 6 P_p ///l/
— —~ A-[T
(g 3 4 /4/< 7 A A A
(& L 4~ | rla (& 4~ [ r-B
= s s
® 2 = T 2 —
(N) 0 0
o 0 120 200 360 480 600 720 840 960 1080 0 120 200 360 480 600 720 840 960 108(
© Flow in ( L/min ) —> Flow in ( L/min ) —> ‘
Ap-q,
Characteristic curves—All spool type
18
16 J
= 14 /
E . /
T j_, 10 // 1) Only applicable for spool R
"t 2) Not applicable for spool R
8g 8
~2 s
1] 7
& 4 // ///
2 ,/ —
0 — |
0 120 200 360 480 600 720 840 960 1080
Flow in ( L/min ) —>
( Spool symbols
WHG DWHG
WHG A B A B
TS S PR N o
PT P
A B A B
"Vﬂ»f oeHeee/ *‘V«_ -« Heee/
[ Z é
DWHG
A B
..... a 0 A./
ale v g ol o]
PT

S

XHHHL c [ R X N B DX

> < B

’%I

%

-

L LT ]
]
=
L
N
>
%
|

BEE
g

it
R E
ENE
% A
il
¥E=
Iy O
S S
e
Sf el
I I B ¢

WHG

Jiag SN : XM -
Rl

Note:Only DWHG16 with S spool

]
-

AIEH] v

=
]

a b IR s CERyAT

=
o =

%ﬁ.

—

[l
4

%

{EEEN

TSH - Technology in Hydraulic Systems www.tshcompany.com.br




Tsh

COMPANY

(© Pilot fluid supply

Main valve

DWHG10 explanation partial drawing

1. 4DWHG10

(1) Internal pilot and external pilot:

The“P”port with M6 screw 3 is external pilot,to
convert valve into internal pilot, the M6 screw 3
must be removed.

(2) Internal drain and external drain:

Removing the bolt 1, to install M6 screw 2 is
external drain,unscrew the M6 screew 2 is internal
drain.

www.tshcompany.com.br

Industrial hydraulic valve

’\A\ p aIV,IIIII,IAI"II

Main valve

=S| s o VP

Internal pilot
A 7727
1

External pilot

DWHG16 explanation partial drawing

2. 4ADWHG16

(1) Internal pilot and external pilot:

Removing the sideward cover, installing the pin to
allow “P” port with open position is internal pilot, to
convert the pin into “P” port with plugged position is
external drain.

(2) Internal drain and external drain:

Removing the bolt 1 and installing M6 screw 2 is
external drain, unscrew the M6 screw 2 is internal
drain.

TSH - Technology in Hydraulic Systems

23




Industrial hydraulic valve I = h

COMPANY

(C Pilot fluid supply

P
INNIN| 2
\
@)
)
2
o T
Q
= 7a
® v Main valve
g 9 1 DWHG25 explanation partial drawing
[
© 1

DWHG32 explanation partial drawing

3. 4DWHG25

(1) Internal pilot and external pilot:

Removing the sideward cover,installing M6
screw 1 is external pilot,unscrew the M6 screw
2 is internal pilot.

(2) Internal drain and external drain:
Removing the M6 screw 2 in the “T"port on the
top of main valve is internal drain, installing the
M6 screw 2 is external drain.

4, 4ADWHG32

1. Internal pilot and external pilot:

Installing the M6 screw 1 in the“P”port on the
top of main valve is external pilot; removing
the M6 screw 1 is internal pilot.

2. Internal drain and external drain:
Removing the M6 screw 2 in the*“T"port on the
top of main valve is external drain; installing
the M6 screw 2 is internal drain.

NOTE : 1.The “X” port on the base plate must
be plugged if internal pilot.

2.The “Y” port on the base plate must
be plugged if internal drain.

TSH - Technology in Hydraulic Systems www.tshcompany.com.br




ISh Industrial hydraulic valve

COMPANY

(C 4DWHG10 Subplate Installation Dimensions

217
~H — R
— 0 | R — B | T =
S| i =
2 A B
B L ]
Ll .Lh
N2
169
24 o 4066 Pylone
e —\ ﬁm%% —— 7
Ny /7T )
%_ [ — i 7P+F7LFF 7\;—] —
_ b jX—frA /;§: 7;7L\\B Y a — Lo
= — T *’/}i\&iﬁ/ S ﬁ;;iL\ T —] =
Sl =T — S e/ S 7 S i —
C—— T W\ﬁ/\\% O

1.Valve’ s set screw

4 of M6 x 45 GB/T70.1-12.9
Tightening torque Ma=15.5Nm.
2.0-ring $16x 1.9

www.tshcompany.com.br TSH - Technology in Hydraulic Systems 25




Industrial hydraulic valve ISh

COMPANY

(C 4DWHG16 Subplate Installation Dimensions

217
]

% b a
® | a a |
a = =
® = @ ,,,,,,,,,,,,, B ,,,,,,, =
3 ol la
© = —

g — N -

A B I

B 2118 _
101.6
8.2 341 i
T OF—— @)
/’\\M S A
g '—Hi:‘ \\l\'i/P F\X?j_‘_| %
= H 0 e fi‘q ,,,,,,,,,, KA =
R N N =
S — Ll WET T
‘%A\: | /&ﬁ% B\i/fﬁ//
v
o pylone 206.6 Pylone ~

Valve’ s set screw

4 of M10 x 60 GB/T70.1-12.9 Tightening torque Ma=75Nm.
2 of M6 x 60 GB/T70.1-12.9 Tightening torque Ma=15.5Nm.
O-ring for P.T.A.B Port: ¢$26x2.4

O-ring for X.Y.L Port: $15x 1.9

TSH - Technology in Hydraulic Systems www.tshcompany.com.br




ISh Industrial hydraulic valve

COMPANY

(C 4DWHG22 Subplate Installation Dimensions

195

133

130
12.2 33 -9 13

12.5

L1111
9
17

i —

Valve’ s set screw

6 of M12 x 60 GB/T70.1-12.9 Tightening torque Ma=130Nm.
O-ring for P.T.A.B Port: ¢ 31 x 3.1

O-ring for X.Y Port: ¢ 25 x 3.1

www.tshcompany.com.br TSH - Technology in Hydraulic Systems 27




O
i)
—
Q
o
(]
c
(]
N
o
[ExY
©

Industrial hydraulic valve

(© 4DWHG25 Subplate Installation Dimensions

sh

COMPANY

E A B
ol
4 4 Z
A
][ H
302
130

53

6—014 Pylome

92
|
T

|
|
115

11.5

Valve’ s set screw

6 of M12 x 60 GB/T70.1-12.9 Tightening torque Ma=130Nm.

O-ring for P.T.A.B Port: ¢ 34 x 3.1
O-ring for X.Y Port: ¢ 25x 3.1

TSH - Technology in Hydraulic Systems

www.tshcompany.com.br



ISh Industrial hydraulic valve

COMPANY

(O 4DWHGS2 Subplate Installation Dimensions

H -
| O U "
H a H
a A—'—]
== —

I
] S
] X B 7
I Iih |7I7I,
: | AR
u | 1 1 A
I | I | | I |
364
190.5
21.5 16 6-022
o
©m©)
‘ /////‘I‘\\\\\ //’I\\\ p
H——H—=H—1—+ R\
I— T \\\ ///// \\\I,//// |\4§§H —l

i I
(I
B ﬁg\ I

2K
o
()
U
I

@

76.5 114.5

Valve’ s set screw

6 of M20 x 80 GB/T70.1-2000 12.9 Tightening torque Ma=430Nm.
O-ring for P.T.A.B Port: ¢$42x3

O-ring for X.Y Port: $ 19x 3

www.tshcompany.com.br TSH - Technology in Hydraulic Systems 29




Industrial hydraulic valve ISh

COMPANY

(C Installation dimensions

4DWHG16
ADWHG10 2
1
108 101.6
61.9
S 54 27
= 50.8 _A4-M10/19
;_’ 37.3 7.9
2 27 . ©
= 16. 7 o — o —
@ 3.2 ||| —
N
(@)
=Y
© <
oL
— . (o))
N C\lg o © . % =
g =z
Lo —
o
- O @ N
= ©
4DWHG22/4DWHG25 4DWHG32
168 233.5
130 190.5
112.5 1417685- 5
18 100. 6 114.5
76.8 21.5]" 82.5
23 76 6-M20/35
29. 2 6-M12/25 41.5 —
W qﬁﬂfffﬁgf
? ®¢ R
| I T
NN TR
34 o e
N §$L‘\ 3—!@10 ! | wl <22
- @ A B | <
¥ 2 o] ‘ ! ‘ ‘ =
()] | P |
o~ I
= T | e
: Q9@

TSH - Technology in Hydraulic Systems www.tshcompany.com.br




Tsh

COMPANY

Industrial hydraulic valve

[ H powrcio)« | E [60/+ PO N | * 7+ [z6L] * | » [ * [+ ]

No code=
28MPa
H=35MPa

Size 10;16;22;25;32

No code=spring return
H=Hydraulic return

See the function symbol
of spool valve

Series 30=Size 10;Series 60=Size 16-32

O=Without spring return
OF=Without spring return,with detent

Voltage
DC12;DC24 ;AC110;AC220

N=With concealed manual override
No Code =Without concealed manual override

For further details

No code=NBR seals
V=FPM seals

No code=Without preload valve
P4.5=With preload valve
cracking pressure is 0.45MPa

No coad if without plug-in throttleer
B0.8=Throttle orifice size 0.8
B10=Throttle orifice size 1.0
B12=Throttle orifice size 1.2
B15=Throttle orifice size 1.5

No code=Externally pilot, externally drained
E=Internally pilot,externally drained
ET=Internally pilot internally drained
T=Externally pilot, internally drained

Z5L=Large quadrate plug with light

No code=Without pilot adjustment
S=With meter-in pilot adjustment
S2=With meter-out pilot adjustment

www.tshcompany.com.br

TSH - Technology in Hydraulic Systems




